[] Constructed of high ] Slot allows for storage (] Handle folds up

impact structural foamed of poly bags. for storage.

polymer for durability and

corrosion resistance.

(] Contoured hand holds
are molded into the cart
. handle for comfort and

(] Holder for fioor sign, convenience.
[ Molded hooks hold mop

heads, allowing them to

air dry after use.

[ Center shelf adjusts to
3 heights for greater
flexibility of storage space,

] Bumpers are molded in to
prevent scratching of wall
and furniture.

[] Front 3" swivel for
easy mobility.

("] Bottom front platform

holds either a 20 gallon or [] Large 8" wheels give the [[] Complete with 25 gallon
32 gallon Gator Container stability needed for moving blue, heavy vinyl bag.

or bucket and wringer over thresholds and rough

combination. surfaces.

No. 6850 - 48"L x 20 1/2"W x 36 3/4"H. Available in
charcoal gray with 25 gallon blue bag. 1 per carton.
Shipped unassembled: 43 lbs.

The White Combo Cart
Designed for versatility

\WHITE g

RO. Box 16647 » 10702 N. 46th Street « Tampa, Florida 33617
(813)9871-2223 - (800) 237-7582 « Fax (813) 971-6090



NO. 6850
COMBO/JANITORS CART
ASSEMBLY INSTRUCTIONS

THE COMBO/ JANITOR CART REQUIRES SOME
ASSEMBLY AND YOU WILL NEED A LARGE
PHILLIPS HEAD SCREWDRIVER AND 7/16" OPEN
WRENCH OR PLIER.

PLEASE FOLLOW INSTRUCTIONS CAREFULLY

REMOVE ALL PARTS FROM THE SHIPPING CARTON AND CHECK AGAINST THE FOLLOWING
PARTS LIST. IF ANY PARTS ARE MISSING, CALL WHITE CUSTOMER SERVICE AT {800) 237-7582.

PARTS LIST:

QTyY: DESCRIPTION: QTyY: DESCRIPTION
1 BASE ASSEMBLY 1 BAG
1 REAR POST 9 1/4" X 1 1/2" PHILLIPS HEAD SCREWS
2 SIDE POST 2 1/4"'X 2 1/2" PHILLIPS HEAD SCREWS
1 CENTER SHELF 2 1/4" ACORN NUTS
1 TOP SHELF 13 1/4" FLAT WASHERS
1

HANDLE, BAG HOOKS

TO ASSEMBLE:

. PLACE (2) SIDE POSTS AND (1)} REAR POSTS INTO THE SOCKETS IN THE BASE, SHORT
ENDS DOWN. SECURE WiTH (3) 1/4" X 1 1/2" SCREWS AND (3) FLAT WASHERS. DRIVE
SCREWS TIGHT.

. ATTACH THE CENTER SHELF ON TOP OF THE THREE VERTICAL LOCATIONS PROVIDED.
SECURE WITH (3) 1/4" X 1 1/2" SCREWS AND {3} FLAT WASHERS. DRIVE SCREWS TIGHT.

. PLACE TOP SHELF ON TOP OF THE THREE POSTS ENGAGING THE LONG ENDS OF THE
POSTS COMPLETELY INTO THE SOCKETS IN THE TOP SHELF. SECURE WITH (3) 1/4" X
1 1/2" SCREWS AND (3} FLAT WASHERS. DRIVE SCREWS TIGHT.

. PLACE HANDLE IN OPENINGS IN TOP SHELF AND SECURE WITH (2) 1/4" X 2 1/2" SCREWS,
(2) ACORN NUTS AND (4) FLAT WASHERS. BE SURE A WASHER IS UNDER EACH SCREW
HEAD AND ALSO UNDER EACH ACORN NUT. DRIVE SCREWS TIGHTLY INTO ACORN NUTS.
THIS WILL PREVENT LOOSENING WHEN THE HANDLE 1S MOVED.

. HANG THE COL.LECTION BAG ON THE (6} HOOKS, /
YOUR UTILITY CART IS NOW READY FOR USE,

B701143 THANK YOU FOR YOUR PURCHASE WHITE MOP WRINGER COMPANY






